Golem shot No0:12529
I

30 F 1 T T T T T T T
25 L Loop voltage ——
2 20
s 15
o 10 +
D 5 | /\‘ Sl Whvitn Py P
Q =—t= I I I I I I { i : :
824 : Toroidal mag. field :
= 0.18 | _
a 0.12 -
0.06 -
0.00 ' | ! ! | | | l l l -
T T T T T T
4.0 - Plasma current B
—_ 3.2 + -
$ 24t -
o 16 .
0.8 - _
0.0 : & : | | | | | | I I L
— I I
= 0.20 F ' —
© 0.16 - -
> 012 - =
g 0.08 -
2 0.04 | .
£ 0.00 : : :
@ 5 ]
€ 4 .
2 3r -
2 2 —
0] 1+ n
c 0 : : : L L L L L L : : :

4 6 8 10 12 14 16 18 20 22 24 26
time [ms]
Figure 1: Evolution of a well executed GOLEM discharge. From top to bottom - the loop voltage Ujop, toroidal

magnetic field By, plasma current I,, the signal of photo-diode with H,, interference filter and electron density
Ne.



